CBSE Class 10 Maths Board Exam 2020: Question Paper (Standard)

i

[Series JBB/1] [SET-1
. 301111
s 4. liameff s H I-gfErs F qu-9
Roll No. i Rk
. Candidates must write the Code on
\ ﬁ@ the title page of the answer-book.
e’ Note

() Fa wfa & o 5 @ wE@- A
oz 78 15 #

(I) Please check that this question
paper contains 15 printed pages.

(ID) mﬁamﬁﬁs@m—wﬁao
¥ &l |

(II) Please check that this question
paper contains 40 questions.

(1) Code number given on the right
hand side of the question paper
should be written on the title page
of the answer-book by the
candidate.

(IV) Please write down the Serial
Number of the question in the
answer-book before attempting
it.

yE-93 & 9 & fag 15 fme
wog famn mm R} YE-TR W
qats & 10.15 =9 fFar smem)
T3 " 10.30 X wHh BH

15 minute time has been allotted to
read this question paper. The
question paper will be distributed at
10.15 a.m. From 10.15 am. to
10.30 a.m., the students will read
the question paper only and will not
write any answer on the answer-
book during this period. J

V)




CBSE Class 10 Maths Board Exam 2020: Question Paper (Standard)




CBSE Clas
s 10 Maths B
oard Exam 2020: Question P
aper (Standard
)

£ "D
0 o secors B e
general” ) °°'"p’r nonsoremmws 4 3
: This
(i) pper o3 of 20 ques\\omgm  hree 00"
(i) Secti0 CapHises of 6quest\onsq§m‘k
(iii) Section B - g’pryl\sﬁ& ) uesupm of \am% y 18
() section C* 0. VoG s of 6 queittons Offom qits 10
") Section D * 0.3 , (:‘)I)“ stion papgr HOWeVgr "k_
vi) There is no 1l ch .. » 0N
( has been P° gge(f; 3 %ueegs:b i a esuo‘“\"'ﬁ\‘ :
each. 3 questions 2 three ,523 w"lsbof four mqﬂz"\
have 10 attempt O one of he choices .S h‘qlles ions.
te nstructxons ar;e v ith
sion to 1his: sgpara qé‘ ﬁ%‘;\{ &“eaA b sec
wherever necessary- " \.
jtted A .
ermitté ﬁ“’Uc o

i polynomial <2 +3x+k is 2, then th s
€ valye

®) -10 © -7 (d) -2
tal number of factors of a prime number is
®) 0 © 2 @ 3

tic pplynomial, the sum of whose zeroes is -5 and their product
; ct is
<+6 () $2 =5x+6 (c) x2-5x—6 (d) _x2 +5x+6
of k for which the system of equations X+ y—4=0 and 2x+ky =3

ution, iS
© 3 ) 2

(b) #2




CBSE Class 10 Maths Board Exam 2020: Question Paper (Standard)

5
12 2115 %1 5.4, (HCF) aon 7.4, (LCM) somwr:

(a) 3, 140 (b) 12, 420 (c) 3,420 (d) 420,3
6.
(‘T’G‘“"ﬁ'ﬁ%v 23, (x+ 10) AT (3 + 2) G Wi A ¥ i 75 §, 2
a
(b) -6 (c) 18 (d) -18
7.
- ‘:‘T:%Wmvap%mmafamq% a 3w 1091 72 8
p (®) p-94 () p+9g (d) 2p+9q
8.

forgait (@cos 6 +psin g, 0) T (0, a'sin 9 — b cos §

(@) a?+p2 (b) a?2-p2 )%mﬁ@%
a?-p ©) va?+52 d) Va2

- ' -2)aa13(74)a€tﬁaﬁa7é%@1@gﬁ
1.2%;313maﬁﬁwrﬁram%,a’rkaﬂm%=

(©) -2 (@) -1

pamagmﬁm%sfaqﬁgzxa 1), B(5, p) 7= (7,

-5) ¥ g ¢,
() -2 (b) 2 (c) -1 o

4

&




CBSE Class 10 Maths Board Exam 2020: Question Paper (Standard)

o

The H(ljfoand the LCM of 12, 21,15 respectively are
3‘ «
@ (b) 12,420 (¢) 3,420 (d) 420,3

ralue of x 3 .
The! ) v for which 2x, (x + 10)and (3x-+2)arc the three consecutive terms
of an AP. 1S
6
@) ®) -6 (c) 18 (d) -18

The ﬁrstgterm of an AP is p and the common difference is g, then its 10™ term is
(@) ¢+9p () p-9g (©) p+9q (d) 2p+9q

The distance between the points (a cos 6 + & sin 6, 0) and (0, a sin 8 — b cos 0), is

(a) a? +b? (b) a?-b? (© qf‘12_|_b2 ; (d) laZ_bZ

If the point P(k, 0) divides the line segment joining the points A2,
B(-7, 4) in the ratio 1 : 2, then the value of kis
(a) 1 (b) 2 () -2 () -1

-2) and

The value of p, for which the points A(3,1), B(5, p) and C(7, -5) are collinear, is
@2 (b) 2 (© -1 @1

10. Nos. 11 to 15, fill in the blanks. Each question is of 1 mark.

Fig. 1,A ABC is circumscribing 2 circle, the length of BC s cm.

11 cm
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12. GivenA ABC~A PQR, |f_=__, then ar(A ABC) _
L PQ 3 ar(APQR) —

13. 'ABC is an equilateral triangle of side 2a, then length of one of its altitude
is

14. £os80°
sin10° +€0s59°cosec 31°=

I5. The value of ( sin2Q + =
A 1+tan20

Or

The value of (1+ tan2 8) (1-sinB) (1+sin@) =

hrown once. What is the probability of getting a number less than 3?
Or '
lity of winning a game is 0.07, what is the probability of losing it?

he first 7 natural number is 15, then find 7.
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Q. Nes 71 to 26 carry 2 marks each.

_b)2
51, ShoV at (@=b)?, (a*+b?) and (a+b)? are in AP

5. In Fig. 2, DEIIAC and DC || AP. Prove that BE_BC
EC ™ CP

A

Fig.2 D

B E C P
Or
In Fig. 3, tWo tangents TP and TQ are drawn to a circle with ce
nt T. Prove that /PTQ=2 £LOPQ.

P

ntre O from an

external poi

Fig. 3 T

dAC ofa TV disc antenna is fixed

e wall
disc as shown in Fig 4
p=3m,

23." Thero
at right angles 10 th

CD is supporting the
Fig. 4- If AC= 1.5 m long and C

find (i) tan g (ii) sec @ + cosec 8 ol

AB and 2 rod

g is bent into the form of an arc of a circle subtending

_pind the radius of the circle. [Use n= 273]

P.T.0.
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-1,0,1,2,3. What

. bL A h ]
]

is probability that x? <49
26 Find 1
& 1e mean of the following distribution :
Class : |
s 35 | 57 7-9 9-11 | 11-13
Frequency : 5 10 10 7 8

- Or
Find the mode of the following data :

0-20 | 20-40 | 40-60 | 60-80
6 8 10 12

SECTION-C

97 to 34 carry 3 marks each.

s of the z€roes of the

3 uadratic polynomial whose zeroes are reciprocal

mial f(x)=ax*+bx+c,a# 0,c#0.
Or
B omial f(x)=3x2—13"3x+5 by the polynomial g(x)=x-

> division algorithm.

{—x*

he coordinates of the vertices of a triangle, the equations

> graphically t
~14 and y-2x=1.

are given by 2y-x=8, 5y-x
Or

e cubic polynomial 3 —3x2 ~10x+24, find its other two

ed due to bad weather. Its average

an aircraft was slow
increased by 30

as reduced by 200 im/hr and time of flight
yinal duration of flight.

1 P.T.O.
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30,/ Find the area of tri G

' a

V' R@S). ngle PQR formed by the points P(-57-Q(4= and
&
~ i

If the poi o
. ,)pon;t C(jl. 2) divides internally the line
x, ») in the ratio 3:4, find the coordinates of B.

segment joining A2, 5) and

'31- Iﬂ Flg 5~ AD = AD AE ¥
' ZE and DB EC’ prove that BAC isan isosceles triangle.

to the sum of the squares of the other

first side is right angle.

one side is equal
he angle opposite t0 the

In a triangle, if square of
wo sides, then prove that t

thattan9+cot9= 1.

s by drawing 2 plane through
e volume of the

9+ cos 0 =ﬁ’ then prove

Sf base radius 4 cm is divided into tWO part
rallel to its base. Compare th

nid-point of its height and pa

SECTION-D

rr) 4 marks each.

are of any positive integer cannot be of the form (5q+2) or

Or

three consecutive positive integers is divisible by 3.

13 P.T.O.
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@45
6. Th et
g € sum of four consecutive numbers in AP is 32 and the ratio of the product of

the first and last terms to the product of two middlc terms is 7:15. Find the
numbers,

g Or
olve : 144+ 7+10+...+ x =287

J/ Draw a line segment AB of length 7 cm. Taking A as centre, draw a circle of
radius 3 cm and taking B as centre, draw another circle of radius 2 cm. Construct
tangents to each circle from the centre of the other circle.

\,ﬁ‘ A vertical tower stands on a horizontal plane and is surmounted by 2 vertical
flag-staff of height 6 m. At a point on the plane, the angle of elevation of the
bottom and top of the flag-staff are 30° and 45° respectively. Find the height of

the tower. (Take v/3 =1.73)

bucket in the form of a frustum of a cone of height 30 cm with radii of its
er and upper ends as 10 cm and 20 cm, respectively. Find the capacity of the
t Also find the cost of milk which can completely fill the bucket at the rate

per litre. (Use n= 2—72—)

ing table gives production yield per hectare (in quintals) of wheat of

of a village :

40-45 | 45-50 | 50-55 | 55-60 | 60-65 65-70

4 6 16 20 30 24

ibution to ‘a more than’ type distribution and draw its ogive.

Or
e following data is 525. Find the values of x and y, if total

100-200
200-300
300-400
400-500
500-600

w | 700-800
< | 800-900
+|900-1000

< | 6C0-700
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